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I (4.5)
Define three of the following concepts (3-5 lines each):

i. GNDI

ii. Trading risk

iii.  Overshooting

iv. Exchange rate pass through

v. Peso problem

IV (2)



In each question, choose one (correct answer: +0.5; wrong answer: -0.125):

In a 2-period open economy, a temporary output contraction causes: (i) a fall in private
consumption; (ii) an improvement in the current account; (iii) a fall in private
investment; (iv) all the above.

. The relative PPP will fail in the long run in the presence of: (i) transportation costs; (ii)
sticky prices; (iii) permanent fiscal changes; (iv) none of the above.

Deviations from uncovered interest rate parity can be explained by: (i) differences
between income taxes and taxes on capital gains; (ii) risk aversion; (iii) barriers to
capital mobility; (iv) all the above.

. Joining a currency area from below the OCA line will be less likely to be self-validating
if, all else equal: (i) the country specializes according to comparative advantages; (ii)
trade becomes more intra-industry; (iii) labor mobility increases; (iv) none of the above.
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11 (13.5)

Unless otherwise stated, please present the results with, at most, 2 decimal places.

II.A. Consider an economy with flexible prices under fixed exchange rate, where money
demand is given by: mP = ¥ /10i , being i is the nominal interest rate. The foreign price level
is P* = 2, the real interest rate is 25% , both the Fisher principle and PPP hold each moment
in time, and full employment output is always reached at Y/ = 100. Initially, the money supply
is constant and equal to M = 40, and the initial CB holdings of foreign reserves are eB; = 24.

a) Quantify the initial values for:

(al) the real money demand
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(a2) the price level
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(a3) the exchange rate
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(a4) the velocity of money
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(a5) the central bank’s balance sheet
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(a6) describe the initial money market equilibrium in a graph
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b) Now suppose that there was a one-time productivity surge in our economy, which led to:
= 125. Assuming that the central bank keeps the peg:

(bl) compute the real money demand;
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(b2) find the money supply;
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(b3) draw the central bank’s balance sheet, explaining how the central bank intervenes.
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c¢) Departing from b) assume that unexpectedly the central bank decided to increase domestic
bonds by 25% each year to finance reoccurring government deficits, while keeping the peg.

Considering that investors are rational and have perfect foresight, describe and quantify:
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(c1) The money market equilibrium when the central bank announces the policy and after

the attack
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(c3) The timing of the regime change. Explain the intuition. g = MAREL NEp.eNel DS 8
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IL.B. Consider an open economy with sticky prices under flexible exchange rates. In this
economy, money supply is equal to M = 25, money demand is given by m? = % , and full
employment output is ¥y = 100. The interest rate parity holds instantaneously, the foreign
interest rate is equal to i* = 0.05. The foreign price level is sticky and initially equal to the
domestic price level at: P = P* = 1. The goods market equilibrium is described by the

expression: Y =4 (A + TB), where A =30,TB=X+5(0—-1),X=-5and 0 = ef:

d) Regarding this initial setting, and assuming that no further changes in the exogenous
variables are anticipated:

(d1) Compute the expected exchange rate.

i
=2 The €(@) O We cxthadge ra+e Wnen we are ok e LA T Y =9¢ = 1eo)
DD

= i = : c 2 e S s b€
e+l @) 9= 4030~ +e( &Y L)1 & 9= a4l a5 45t -5 gizor2oy

T V\00 (5) J¥ID + 2o 2‘_,— — oD &) zZo L:_--]_; - 20z &=V ]r\;:-.\ur, fof ¥nae LR
A
M D (= b P
L= = ) oo ograee oy i 58 = < =) - S - E~L€)
= - o] il - R RS e
_ e V0O ~
LR ¢ o = 99T -1 +1 &) _'i_;_ ew= ©0,9% ) ¢z €(e) = 9,35

(d2) Derive the AA and DD curves [Consider that E(e) = 1 if you have not done dl].
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(d3) Use AA and DD to compute the short-run equilibrium, namely the nominal exchange
rate (please include, at least, 3 decimal places) and output.
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[Tip: the quadratic formula is x = -%]
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(d4) Find the trade balance.
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(d5) Compute the long-run price level in the absence of policy interventions.
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(d6) Derive the long-run AA & DD curves in the absence of policy interventions.
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(d7) Describe, explaining in detail, the adjustment to the long-run referring to the AA-DD
diagram. e &
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e) Assume now that the government urged the central bank to permanently change the money
supply in order to restore full employment:

(el) Find the required level of the money supply and the new expected exchange rate.
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(e2) Derive the AA & DD curves after the implementation of the policy.
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(e3) Describe, explaining in detail, the adjustment process, referring to the AA-DD
diagram, the money market, and the foreign %xchange market.
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